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Question Number : 1 Question Id : 1017174481 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Let N be the set of all natural numbers

defined by
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Question Number : 3 Question Id : 1017174483 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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Question Number : 4 Question Id : 1017174484 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If a. b. ¢ are non zero real numbers and 1if the equations (a— 1) x=y+z. (b—1)y=z+x.
(c—1) z=x+ y have a non-trivial solution. then ab + be + ca=
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Question Number : 5 Question Id : 1017174485 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If a system of three linear equations in three unknowns. which 1s in the matrix equation

rank of A

form of AX =D. 1s inconsistent. then 15
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Question Number : 6 Question Id : 1017174486 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1 cos & 1

If A=|—cosé 1 cos@ |. then A lies in the interval
-1 —cos@ 1

1 cos e 1
A=|-cos8 1 cos@ | wond, Aot wosdo
-1 —cos@ 1

Options :

, (2.4)
[2.4]
3. [-1.1]
s [1.4]

-2

Question Number : 7 Question Id : 1017174487 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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If z 1s a complex number with | | = 5. then the least value of 1S
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Question Number : 8 Question Id : 1017174488 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 9 Question Id : 1017174489 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 10 Question Id : 1017174490 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If o is a non-real root of x’ = 1. then o1+ a](] gty -St’4l =

T=1 5% o8 3386 SHrosn a®wond, a1+ c;r'](1+ a’2+@{4] =
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Question Number : 12 Question Id : 1017174492 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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The harmonic mean of two numbers 1s i and their geometric mean 1s 2. The quadratic

equation whose roots are twice those numbers. 1s
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Question Number : 13 Question Id : 1017174493 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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If the roots of the equation x° — 7x* + 14x — 8 = 0 are in a geometric progression. then the
difference between the largest and the smallest roots 1s
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Question Number : 14 Question Id : 1017174494 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If c. B. ¥ are the roots of x> + px? + gx + = 0. then the value of (1+ o } ('1 L8 )(1 gp? ]
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Question Number : 15 Question Id : 1017174495 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The number of different ways of preparing a garland using 6 distinct white roses and
5 distinct red roses such that no two red roses come together. 1s
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Question Number : 16 Question Id : 1017174496 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

There are 10 intermediate stations on a railway line between two particular stations. The
number of ways that a train can be made to stop at 3 of these intermediate stations so that
no two of these halting stations are consecutive. 1s
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Question Number : 17 Question Id : 1017174497 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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37¢, + D (42-7), =
r=1 :
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Question Number : 18 Question Id : 1017174498 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The coefficient of x° in the expansion of (1+ )+ (1+ r)ﬂ Lo S x)m is

(1+:r)21+[]+x]22+...+(1+x]3ﬂ G308, DTSt x7 H2agSD
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Question Number : 19 Question Id : 1017174499 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If 1 1-3+1-3-5+1-3.5.?+ R ; o

= ... to infinte terms. then 9y~ _—
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Question Number : 20 Question Id : 1017174500 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 21 Question Id : 1017174501 Display Question Number : Yes Single Line Question Option : No Option
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If tan o and tan B are the roots of the equation x*+px+¢=0. then the value of

sin” (o +,8]+pc05[a+,8}sin(o:+,B}+qc052 (a+p) 1s
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Question Number : 22 Question Id : 1017174502 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

1 +cosl0® + cos20° + cos30° =
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Question Number : 23 Question Id : 1017174503 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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The number of solutions of the trigonomefric equation 1+cosx-cosSx=sin"x in
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Question Number : 24 Question Id : 1017174504 Display Question Number : Yes Single Line Question Option : No Option
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Question Number : 25 Question Id : 1017174505 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 26 Question Id : 1017174506 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In A ABC if 6 is any angle. Illlﬁ‘ll.bcos((_”-k 8)+ccos(B-6)=

A ABC & 0 957 &0 wond, beos(C+6)+ccos(B-6) =
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Question Number : 27 Question Id : 1017174507 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In A ABC. if hcos8 = ¢ —a. (wWhere 8 is an acute angle). theu'(c —a)tan@ =

0 050800 wo0dHyE A ABC &S bcosf=c—a wond, (c—a)tanf =
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Question Number : 28 Question Id : 1017174508 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If a. B. yare the lengths of the tangents from the vertices of a triangle to its in-circle. then
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Question Number : 29 Question Id : 1017174509 Display Question Number : Yes Single Line Question Option : No (
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The triad (x. y. =) of real numbers such that

(37 =7 +2F) = (27 +37 —F ) x+(T =27 +2K) y+(-27 + 7 —2F) . is

(37 =7 +2F) = (27 +37 —F)x+(7 =27 +2F) y + (27 + T —2F ). wobginod a3
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Question Number : 30 Question Id : 1017174510 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In A ABC, L. M. N are points on BC, CA. AB respectively. dividing them in the ratio

@L+BM+(N
CK

1:2. 2:3, 3:5. If the point K divides AB in the ratio 5:3. then

AABC &, L, M. N en 36dm BC, CA. AB o3 fio HodhHen 00050 e Hoden
8 1.2, 2:3, 3:5 d8S* Jgfaron. K elo Hohyh AB I 5:3 aqgs® dgednod,

—D

?_"';r'

20V EA
O

&

Options :

Qcollegeduniag



Question Number : 31 Question Id : 1017174511 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
If a non-zero vector @ is parallel to the line of intersection of the plane determined by the

vectors 7 —k. 37 — 2k and the plane determined by the vectors 27 + 37.1—37 .thenthe

angle between the vectors @ and 7 + 7 + & is
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Question Number : 32 Question Id : 1017174512 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
If . b and ¢ are non-zero vectors such that @ and » are not perpendicular to each other,

then the vector # which is perpendicular to @ and satisfying 7 xb = x b is

$3g86 96500 . b. T o 7.
S0t Fxb=cxb O $H0D 507 T
Options :
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Question Number : 33 Question Id : 1017174513 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the volume of the tetrahedron formed by the coterminous edges @. b and ¢ is 4. then the

volume of the parallelopiped formed by the coterminous edges @ x b. b x and € x @ is

a.b. T o T3PS wodenT {0 FHEND 50500 4 wond axb. b xc,

C Xd 0% JHFTIIIE wohenm o H3ross Hofo DSHBIrmo

Options :
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Question Number : 34 Question Id : 1017174514 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the points having the position vectors 3 —2j —k.2i +3j —4k.—i + j +2k and

A7 +5] + Ak are coplanar. then A=

31 —2] k.20 +3] —4k.—7 + j + 2k 500050 47 +5] + Ak FSdase0m e Hocgen
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Question Number : 35 Question Id : 1017174515 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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The variance of the following data 1s
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Question Number : 36 Question Id : 1017174516 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If & =0 and the mean deviation of the observations {ka}. for /= 1. 2. .... 50 about its
median 15 50. then |¢| =

a =0 ©H8> Hd3eden {ka. k=1, 2. ... 500 BwE), HFgiso Sod HPgH JFoso
50 wond, ¥y |al =
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Question Number : 37 Question Id : 1017174517 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If three numbers are drawn at random successively without replacement from a set
S={1.2..... 10}, then the probability that the mmimum of the chosen numbers 1s 3 or their

maximumis 7. 1s

823 w085 804 &5 Dobsom dé S= {1. 2. ... 10} Jood dSrSysomr &8 o'
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Question Number : 38 Question Id : 1017174518 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A bag P contains 5 white marbles and 3 black marbles. Four marbles are drawn at random
from P and are put in an empty bag Q. If a marble drawn at random from Q 1s found to be

black. then the probability that all the three black marbles in P are transfered to the bag Q.
15
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Question Number : 39 Question Id : 1017174519 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Given below 1s the distribution of a random variable X
X=x 1 2 3 4
P(X=x) A 24 A 44

[fo=P(X<3)andB=P(X=>2).thena:p=

fid

2.8 Oﬁjﬁrﬁgnﬁé Joord X A derado HHSS Rdwdod.
X=x 1 2 3 4
P(X=x) A 24 3 47
a=P(X<3)H5000 p=P(X>2)wond, a:p=
Options :
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Question Number : 40 Question Id : 1017174520 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

, S e B . )
If the mean and variance of a binomial variate X are —, 5 respectively. then P (X=2)=
O
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Question Number : 41 Question Id : 1017174521 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



DXy Xy .. X, and g. ¥y. V5. ... Yp are two anithmetic progressions with common differences
a and b respectively. If e and S are the arithmetic means of x . x,. ... x, and y,. y,. ...y,
respectively. then the locus of P (c. f) is

P X1 Xgs s X, 0BO50 @, Vs Vs oo Y0 DODTT 4, b5erogdoren (e Bod wo¥REEen.
a, B en 360 Xy, Xy, ooy X, 500050 Yy, ¥y s ¥, © @0E SoEgSoren wond, Loy
P(a. B) &0 H5o
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a(x=p)=p(ry-q)
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o
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Question Number : 42 Question Id : 1017174522 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The point to which the origin 1s to be shifted to remove the first degree terms from the

equation 2x” + 4xy—6y* + 2x+8y+1=0 is

HEGwo 2x7 +4.1j1'—6_1'2 +2x+8y+1=0 50 TS SEKS Hrreods enHo DoHEDS
Srefodd drfdend §E Do
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Question Number : 43 Question Id : 1017174523 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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The incenire of the triangle formed by the straight lines y =+/3x, y = —/3x and y =3 is

y —f3x. y:_\/ﬁm y =3 36¢8pes® I6E @ahad) wossdoko
Options :

(1.2
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Question Number : 44 Question Id : 1017174524 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The set of all values of “a” such that both the points (1. 2) and (3. 4) lie on the same side of
the line 3x—Sy+a=0

(1. 2), (3. 4) ©3 Sodpen Bodr HE§0p 3x—S5y+a=08 83y voBocsy ‘a’ B,
W) DD DIOE
Options :
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Question Number : 45 Question Id : 1017174525 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The points on the straight line 3x — 4y + 1 = 0 which are at a distance of 5 units from the
point (3. 2) are
3x—4y+ 1=006609 73, (3. 2) Dohh) $H0a 5 0rdy) Erésns® o HomHen
Options :
63
2 4,
1
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Question Number : 46 Question Id : 1017174526 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The equation of the pair of lines through the point (2. 1) and perpendicular to the pair of
lines 4xy +2x + 6y + 3 =01s

(2, 1) foch o Fdr, 4y +2x + 6y + 3 = 0 «3 Byp° 0d0mA8 eoom ok
Baroho), D8G50
Options :
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L
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=2+ 2=0
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Question Number : 47 Question Id : 1017174527 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the pair of lines x* — 16pxy —y> =0 and x> — 16gxy —1* = 0 are such that each pair bisects
the angle between the other pair. then pg =

X2 —16 pxy— 17> =0 50050 x> — 16 gy — 1> =0 25 drdowH H6¢dgr aS01f350009e5° (6
2ad 068 ad Dy fo s SSHbods Txod, wdyd pg =
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Question Number : 48 Question Id : 1017174528 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The figure formed by the pairs of lines 6x” + 13xy+ 6> =0 and
6x>+ 13xy+ 62 + 10x+ 10y +4=0.isa

6x” + 13xy + 6y = 0 508050 637 + 13xy + 6y + 10x + 10y + 4 = 0 &3 Sgr oSomeD
DOVE D0 28
Options :
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Question Number : 49 Question Id : 1017174529 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A circle having centre at the origin passes through the three vertices of an equilateral triangle
the length of its median being 9 units. Then the equation of that circle 1s
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Question Number : 50 Question Id : 1017174530 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If a circle with radius 2.5 units, passes through the points (2. 3) and (5. 7). then its centre 1s

agrgan 2.5 05y #OAS 8 SygSn (2. 3). (5. 7) Lok Hoa @Fdod,
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Question Number : 51 Question Id : 1017174531 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If 2kx + 3y — 1 =0, 2x + y + 5 =0 are conjugate lines with respect to the circle
>+ —2x—4y—4=0, then k=

' 2 R 7 o
Py -2—4y—-4=003 Sygo Syakg, 2hx +3y—1=0,2x+y+5=0en Socsnry
DEFODB, WHVER k=

Options :
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Question Number : 52 Question Id : 1017174532 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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If the point of intersection of the tangents drawn at the points where the line Sx +y+1=0
a ) 2 i
cuts the circlex™ +y"—2x—6y—-8=01s (a. b). then Sa + b =

T ) Sx+y+1=039 podod HohIho 3¢ ADS HGBdee
Do Hod (a. b) wond, Sa+ b=

Options :

L 3

4
5=l
4. —44
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Question Number : 53 Question Id : 1017174533 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The angle between the two circles. each passing through the centre of the other, 1s

280" B0 Hom® HEEEH FAEod To SyEe ey o
Options :
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Question Number : 54 Question Id : 1017174534 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The equation of the circle whose diameter is the common chord of the circles

x +J-'2 + 2%+ 2y+ ] =1 and x +.1‘2 +4x+6y+4=01s

-:r & LT A, = i
HP X +2y+1=0500050 ¥+ 12 +4x+ 6y +4=0 SYT:o 30y gy g0
de Sy HDaSGeo
Options :

2
| 2T )" —2x+4y+1=0

L P+ —x+ 2y +4=0
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W33+ 6y—8=0

, 107+ 1097 + 14x + 8y + 1=0

Question Number : 55 Question Id : 1017174535 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The equation of the parabola whose axis is parallel to the X-axis and which passes through
the points (2. 1) (1. 2) (1. 3) 1s

(2. 1) (1. 2) (1. 3) oo Hom® FsSr, X-ugdd dSrossomr «gd) SOASLH)
HoESO0%H HDIEGDSD
Options :

2517 — 2x— 65y +36=0
L1522+ 12x— 11y +20=0
2+ 2y —21y+20=0

1877 — 125 31p-91=0

Question Number : 56 Question Id : 1017174536 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The tangents to the parabola y* = 4ax from an external point P make angles 0, and 6,with
the axis of the parabola. such that tan 6, +tan 6, =5 where b is constant. Then P lies on

$0°50030 32 = dax § e.8 erdrg DoY) P HHod 4dS $)gPwen, Horseohs) wgost
0, 080w 0, Segren Dbz, 2.8 QE0=3 b S, tan 6, + tan 0, = b wdgtnanon. wiHyd P
ﬂim ) 0t00d |

Options :
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X
3, b
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. FHE=D

Question Number : 57 Question Id : 1017174537 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



1. d

The lines y =2y++/76 and 2y +x =28 touch the ellipse ;—6 + 1—2 =1. If the point of

mtersection of these two lines lie on a circle. whose centre coincides with the centre of

that ellipse, then the equation of that circle 1s

q

e gd

X .3
+—=1 BES5FES0S dBowWHHD.
6 12 e 3

y=2x++76 $0050 2y+x=8 d6¢0pen
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Options :

2
L ¥ +y*=16
, Xy =12
, X+’ =28

Question Number : 58 Question Id : 1017174538 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The angle between the tangents drawn from the point (1. 2) to the ellipse 33> + 2" =5 is

(1. 2) Do Sod 3x° + 2}'2 =5 e ﬁgzég@j}é ADS 9EOPe ey §eadwn

o

Options :
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E
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Question Number : 59 Question Id : 1017174539 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

2 2
x° y
If Ix +my=1is a normal to the hyperbola — — < =1. then a’m* - b*/* =
2 2
2 P
s : . : vl i
wSBAT 00 —2——,)—1 & Ix+my=1¢e8 w000 ©ond, am o P
2 2

Options :
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Question Number : 60 Question Id : 1017174540 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The circumcentre of the triangle formed by the pomts (1. 2. 3): (3, -1. 5): (4. 0,-3) is

(1.2.3):(3.-1.5): (4.0, -3) @ 26\d (@ehaS0 @0 H0I)E BoGSw

Options :
L (22,9

3, s 1,.1)
5 B33

B

Question Number : 61 Question Id : 1017174541 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical



). If D 1s the foot of the

I'_J.J

A ABC is formed by A (1. 8, 4), B(0,-11. 4) and C (2. -
perpendicular from A to BC. then the coordinates of D are

A(1,8,4),B(0,-11, 4) 508050 C (2, -3. 1) o8 2 Eﬁ A ABC 5, ASod BCSE D%
eonardo Dwmond, D adrdsten

Options :
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Question Number : 62 Question Id : 1017174542 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The equation of the plane through (4. 4. 0) and perpendicular to the planes 2y +y+2z+3=0
and 3x+3y+2z2—-8=01s

(4.4, 0) How e, 2x+y+22+3=0500050 3x+3y+ 22— 8 =03S0gererd oo

€08 HF0 HEG0
Options :
| Ax+3y+3:=28

g A—2y—32=8
4x+2y+3:=24
, d+2y—3z=24
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Question Number : 63 Question Id : 1017174543 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

(1—cos2x)(3+cosx)

lim
x—0 yiandx

Options :
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Question Number : 64 Question Id : 1017174544 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If f: R— [Ris defined by

=] . for x<1
3 ; S
LI - dor L3
f{“:_"} e _
r—10 for 3<x<5
T . Tof 35

then the set of points of discontinuity of f 1s

fAR—>R&a
x—1 x<1s
2—x> . l<x<3&
f(x) = - "
x—10 .. 3<x <58
2x x>58

™ A0LH R, fDdHdhy o HS

Options :
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s 11.5}

Question Number : 65 Question Id : 1017174545 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

+ = Tan ! | ¥ l +5In J-ETHH_I ’El ar =
If ) I+EJ’ L 1+xj.tl]€]1 3

.11'=T£111_1-{1+\/'f_T +51'11<|[2T311_1,,E.J1 ©008, VIV E:

e

Options :

Qcollegedunia;



| 241—x2
1-2x
q. X 1-x?
2x+1
s ¥Nl—x
1-2x
s 2V1-27

Question Number : 66 Question Id : 1017174546 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
3 ™
’x—Z“éi

2 . d X 2
For x* — 4 = 0. the value of —-| log-e [ ‘ atx =31
dx x+2 )
d & % 2‘
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Question Number : 67 Question Id : 1017174547 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 68 Question Id : 1017174548 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

3 v T T
An angle between the curves x™ =3y andx™ +1y =41s

- 5 ;
P 31 00030 2 Ty =4 5o Ddy fo w8 Fwo
Options :
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Question Number : 69 Question Id : 1017174549 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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A container 1s in the shape of an inverted cone. Its height 1s 6m and radius 1s 4m at the top.
If it is filled with water at the rate of 3m>/min. then the rate of change of height of water
(in mt/min) when the water level is 3m. 1s

w8 @ doodr EHYDES Foeod CrHoe”® 08, T I 6 . DO T
DEroeS’d argrgo 4 5. 532 3 HYD5000 Bend HES JoHyEod, HeS 9630 3 .
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Question Number : 70 Question Id : 1017174550 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If a cylindrical vessel of given volume V with no lid on the top is to be made from a sheet
of metal. then the radius () and height (/) of the vessel so that the metal sheet used 1s
NI, 15

NS HJodHIBSrS0 V e af Sordsd EﬁJq"Jﬁ*—‘S"‘d&'gj g, e e V&S
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Options :
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Question Number : 71 Question Id : 1017174551 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

For the function f(x) =(x—1) (x—2) defined on

-

1 S s :
0 . the value of ‘¢’ satisfying Lagrange’s

mean value theorem. 1s

] = il o
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Question Number : 72 Question Id : 1017174552 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 73 Question Id : 1017174553 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 74 Question Id : 1017174554 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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Question Number : 75 Question Id : 1017174555 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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S nx .
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Options :
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Question Number : 76 Question Id : 1017174556 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 77 Question Id : 1017174557 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Question Number : 78 Question Id : 1017174558 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The area (in sq.units) enclosed between the curves y =x* and y = x| is

y=x> 50050 y = || Se S0l HoEScdhg HBFo JFrego (S ardES®)
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Question Number : 79 Question Id : 1017174559 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The differential equation corresponding to the family of circles in the plane touching the
Y-axis at the origin. 1s

Y-95Q) Sorofodhs) S¢ Efl;wg%’D*j S0 JFo Bé0erd§ Hoeohodd wIseD

HdEsmo

Options :
7 s
" T
| dx 2xy
#)
dy  x” —_1'2
. dx 2xy
2
dy y — x’
- ¥ 2xy
dy  2xy
(?]I.T B *2_1_ 2
4 *

Question Number : 80 Question Id : 1017174560 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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. g \ vy :
The solution of the equation [:r - 4_1-'3 d—1 —y=0.(y>0) is

, dy
(..1'—4‘1'3 }E_ y=0,(y>0) &3 358500 B0, FES

Options :
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X =.13 +Cy
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Display Number Panel: Yes
Group All Questions: No

Question Number : 81 Question Id : 1017174561 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In the determination of the internal resistance of a cell with a potentiometer. the error in
the measurement of the balancing length is + 1 mm. When the cell alone is connected in
the circuit, the balancing length is obtained at 60 cm and when the cell is shunted with a
resistance of 10Q2 +2%. the balancing length is obtained at 50 cm. The error in the
determination of the internal resistance of the cell 1s

w8 DBISr DL GIAriod wf Do SBNE ©oddTTa) Agowod Edod’,
Qood FEHS'T o £ 1 mm Hoird) g Sechodt EOLS, dohed FED
60 cm  SINHE dcln érds Sdocroddorr 1082 +2%. AT TR FDDIHH JSodood
28I 50 cm e S8, Do ToE), BodB)TTR) AgowoTEoS” EHAS F'Ro

Options :
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Question Number : 82 Question Id : 1017174562 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A bird is tossing (flying to and pro) between two cars moving towards each other on a
straight road. One car has speed of 54 kmh~! while the other has the speed of 36 kmh!.
The bird starts moving from first car towards the other and 1s moving with the speed of
36 kmh~! when the two cars were separated by 36 km. The total distance covered by the
bird before the cars meet each other 1s

BHT S 0.8 §E D ETITES 858808 BOXD) Dok 578 Dodg a8 D§ Dooolodr,
0B8R ADBHSr &, J0s 576 54 kmh ! 38 B080%0 BokH 5% 36 kmh™ 58
80N ). Bod 57¢ Jogig dordo 36 km erdoyedd e H§ I0dd 578 Hod Dok 5B
39 36 kmh™! 388" $Oowko (FEoDoNHH. ®onB & Tokd T°& ELWEIS'Y & H§
Rodr8odd Joodo Srdo

Options :
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14400 m

Question Number : 83 Question Id : 1017174563 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A body is projected from the top of a tower with a velocity & = 3i + 41 +5kms ™. where

i J and k are unit vectors along east. north and vertically upwards respectively. If the

height of the tower is 30 m. horizontal range of the body on the ground is (g=10ms™)

ewgdo, ALY So2d I5°0E SHFen.

o
—0

G &

088 argm (g = 10 ms™)

Options :
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Question Number : 84 Question Id : 1017174564 Display Question Number : Yes Single Line Question Option : No C *°
Orientation : Vertical i
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Equation of a projectile is given by y=Px — Qx” where P. Q are constants. The ratio of
maximum height to Range of the projectile 1s

28 HEH%0 B dIECwo y=Px —Qx” m ad@dos. P, Qoo porosen. wond ©b
BB KOR ddy B0 TgRe AN

Options :
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Question Number : 85 Question Id : 1017174565 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A person of 60 Kg mass is in a lift which is coming down such that the man exerts a force
of 150 N on the floor of the lift. Then the acceleration of the lift is (g = 10 ms—2)

60 Kg 55073 Ho w8 $g8 a8 89" aanid. & 83 $ohs SRS & $38 o Jo
2 150 N w00 @BrfoBtotionsd & 99 ddeadn (g=10 ms—2)

Options :
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Question Number : 86 Question Id : 1017174566 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Fig. (a) ik ()

The situations are shown in fig (a) & (b). in each case, m; =3kgand m, =4 kg. Ifa;. a, are
the respective accelerations of the blocks in these situations. then the values of a; and a,
are respectively [ g=10ms2 ]

(a) S08a50 (b) Htred® $rd088 dod dodomee® B3N e Eclsren a1, 47 WO,
LY & S I %3

my = 3kg S5o0ain my =4 kg By, a1, a0 desdes [g=10ms— ]

Options :
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Question Number : 87 Question Id : 1017174567 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A girl of mass 50 kg is swinging on a cradle. If she moves with a velocity of 2 ms—1
upwards in a direction making an angle 60° with the vertical. then the power generated 1s
(2 =9.8 ms—2)

50 kg 855078 do o8 O Gdirged’ &sihdB. e wdidds’ 2 msl Irsns
Fér Jend) Sodnd® 60° Fmo WodndHds w8 Eo‘f‘wg PS8 g s (g=9.8 ms—2)
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Question Number : 88 Question Id : 1017174568 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two blocks of masses ‘M and ‘m’ are placed on one another on a smooth horizontal surface
as shown in the figure. The force ‘F’ is acting on the mass ‘M horizontally during time
interval ‘t’. Assuming no relative sliding between the blocks. the work done by friction on
the blocks is

‘M’ S508080 ‘'m’ (Bigorden o Sod B30 28R 2 288 o8 Jodod) §82 Jdrodd
S0 W HLoS® Wraddnm wowrd. T avwo ‘M’ (@503 W §8z ddroddomr t7 w0
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Question Number : 89 Question Id : 1017174569 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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A uniform thin rod of 120 cm length and 1600 g mass is bent as shown in the figure. The
moment of inertia of the bent rod about an axis passing through the point *O° and
perpendicular to the plane of the paper is kgm?.

L:

120 cm r&:y, 1600 g (55078 o e 2868 SH)E 8 HLod® Hrdhd Ao Sotadod.
58y S8 vowom ‘07 Aoty Mom FY wEo dyry HowadS é% Soos), e
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Options :
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Question Number : 90 Question Id : 1017174570 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A solid sphere is projected up along an inclined plane of inclination 30° with the horizontal
with a speed of 4 ms~!. If it rolls without slipping, the maximum distance traversed by it is
(g=10ms2)

o8 D8R §8208° 30° Fwo T3S Tew oo Joad Bod vod S 4 ms—! $4&°
D880 BT, & Yo ardfoom §788, vd Pairsdodd KB dodo (g=10ms2)
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Question Number : 91 Question Id : 1017174571 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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Time period of a simple pendulum of length “L’is T;. Time period of a uniform rod of same

length ‘L’ suspended from one end and oscillating in a vertical plane 1s T,. Amplitude of

T
S s ;
oscillation 1s small in both cases. Then. T 15
7

‘L 269 fo odnd'oidin Soddd sodn T ©o8 6 L' do 28068 §43 o8 &5
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Question Number : 92 Question Id : 1017174572 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two bodies of masses 4 m and 9 m are seperated by a distance ‘r’. The gravitational potential
at a point on this line joining them where the gravitational field becomes zero is

4m So8cin Im @Sgordhen o Bod SAPew T’ Srdod” b Tobwddd. v GHgod
oo Sen) Tp » NthberEdn 38 SIS Erdgo vdlg Do) S¢ & §8)50 (FBAHE)
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Question Number : 93 Question Id : 1017174573 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The ratios of lengths. areas of cross section and Young’s modulii of steel to that of brass

wires shown 1in the figure are a. b. ¢ respectively. The ratio of increase in the lengths of
brass to that of steel wires is [ Assume that the masses of Steel and Brass wires are negligible]
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Question Number : 94 Question Id : 1017174574 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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Fully filled open water tank has two holes on either sides of its walls. One is a square hole
of side x cm at a depth of 2 m from the top. and the other hole is equilateral triangle of side
4 cmat a depth of 6 m from the top. If the rate of flow of water is same from both the holes.
then “xX 1s

T QobS 28 BN U8 FHH IV do Fdei Dok JoFrend)d. @k’ &
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Question Number : 95 Question Id : 1017174575 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Three uniform thin aluminum rods each of length 2 m form an equilateral triangle POR as
shown in the figure. The mid point of the rod PQ 1s at the origin of the coordinate system.
[f the temperature of the system of rods increases by 50 °C, the increase in y-coordinate of
the centre of mass of the system of the rods is mim.

(Coefficient of volume expansion of aluminium = 1243 %10 2K %)

w88 2 m &Yy Ko 3 WSl SHY worgdodoio é%m wt0e5” W o
PQR Jd0eriv |1880er5m80e” @dod)2bsa. é% PQ &30, &y Do) AErDHE Hg5Q
o), Soredold) S¢ ok, §go Sg5H Bwg) eXES 50 °C wond, sgo Bgd
o0&, BH5T°3 Bodo BwE), yVErHees’ whibEe mim.

Bes B

(Sergodoho B0, Do HoSr Tg8S Weko = 1243 x107°K™)
R

Options :

. 0.05
, 0.1

ol |
4 0.8

Question Number : 96 Question Id : 1017174576 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Awall is made of equally thick layers *P” and *Q’ of different materials. Thermal conductivity
of “Q’ 1s half of that of the *P". In the steady state, if the temperature difference across the
wall is 24 °C, then the temperature difference across the layer ‘P’ is

ik

& I STTos Td D8rd Sooddn EOAS Bok Frdewn P’ oddin QT o w8 A
SrdBchudsd. Q7 oy, G TEEgto P’ D), ey TTrEScod” diridn. Josd
8, FE5 ad3Yer e BES5w 24 °C vowd P’ Iréh addder o aifiiss

(3

£l s2”

et

&332

Options : Qcollegedunias



 12°C
, 8°C
, 16°C
4. 49C

Question Number : 97 Question Id : 1017174577 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

One mole of a gas expands such that its volume “V~ changes with absolute temperature *T"
in accordance with the relation V=KT2 where ‘K’ 1s a constant. If the temperature of the
gas changes by 60 °C, then work done by the gas (R is universal gas constant)

a8 IrS Fasny FgFA/NJE, Trasn PodBBSredn VI, Wk esEs T &
V =KT? 3208670 00dd83 557853

%
SrB5% Tased B2d 5 (R = FEg@E oo Joroko)

Options :

, 120R
, Rln 60
; KRIn 60
» 40KR

Question Number : 98 Question Id : 1017174578 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A monoatomic ideal gas goes through a cyclic process as shown in the figure. The efficiency
of this process is

508" BrHwdsin el DEHESrmE il Tang Sfah HBoHE 38, & BB
5ES

AY
3P - C
M Y
P + - 5 - | D
1 1 b4
\Y 2V
Options :
78%
l.
. 62%
5. 42%
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Question Number : 99 Question Id : 1017174579 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

If the average translational kinetic energy of a molecule in a gas is equal to the kinetic
energy of an electron accelerating from rest through 10 volt. then the temperature of the
gas molecule is (Boltzmann constant = 1.38 x 10-23 JK-1)

a8 oy Do) o ditn TTosd K8=¥8, 10 volt » wor IHo & Hod
L i
e‘.a’“dfége:a’o Bod Qe.:@jﬁ (@22¥88 JSSrdo wond & Frdo vy wLS
(GBS Yorosdon = 1.38 x 1072 JK)
=]

Options :

737K
, 773 x 13K
. IR K
, 730K

Question Number : 100 Question Id : 1017174580 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The transverse displacement of a string of a linear density 0.01 kg m-1. clamped at its ends
s = 2 ; g =
is given by Y, ) = 0.03sin| —— |cos (60 xt) where x and y are in metres and time “t’ is

in seconds. Tension in the string is

S0 DSGw DA &od, BPad Fodd 0.01 kg m! Ko .8 So8S” 8858 Fgoddw

. [ 2nx : _
b S :0.03511][LJCDS(60?[’[) m 25ad6. X, Y Htbod, stoo T REled’

Bods. So|85°Q #dge
Options :

| 81N
» 162N

; 36N

s IN
chllegedunias



Question Number : 101 Question Id : 1017174581 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A closed organ pipe of length ‘L’ and an open organ pipe contain gases of densities p; and
p, respectively. The compressibility of gases are equal in both the pipes. If the frequencies
of their first overtones are same, then the length of the open organ pipe is

L d o Sorn &) sgre TS0 008w o8 B wore L0 Sod &0
P1 $08030 Py Fo@den o TrodnPen ). Sod FMred'd Trakned 2.8 E&oi}dsgeﬁ
8OA D). T8 JndE 28308 FI:PIgdwen SIrIFpl, BOAS @q::S o &I

Options :

L

;3
4L

2 3
4L

-
]

e

=
t-d

4L

o
|
4 1

Py
p

Question Number : 102 Question Id : 1017174582 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two point sources S; and S, are 24 cm apart. Where should a convex lens of focal length
9 cm be placed in between them so that the images of both sources are formed at the same
place ?

S1.S; Dot 5708 235700 w.80° ok .88 24 cm drdodS” oo, 9 am Srergod s
Ko &ogrsed §Lddnd o8 ofy I8 & Godd S, S o @Bédowren a8 Doty 5
Y07

B

Options :
;. 8cm

, 6cm

; 10 cm
12 cm

I
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Question Number : 103 Question Id : 1017174583 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two slits separated by 0.5 mum are illuminated by light of wavelength 500 nm. The screen is
at a distance of 120 cm from the slits. The phase difference between the interfering waves
at a point 3 mm on the screen from the central bright fringe is

0.5 mm Sy Srdoie Tody NO¥oP 500 nm $80h8Y g0 Ko 57088 KWHRo L.
DO%e Hod 88 120 cm &rdods” Sodh. o Jenid D Hood 8 ¢ 3 mm Erdos”
fo Do B[O H88dmo Vo Sdomre Mgy &7 Pdo

Options :
1 It

o -
2

4 T

Question Number : 104 Question Id : 1017174584 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The uniform electric field mtensity between the two plates of a parallel plate capacitor is
1 % 103 Vm= acting vertically upwards as shown in the figure. The plates are sufficiently
long and have separation 2 cm. A particle of negative charge 1 uC and mass 2 g is projected
at an angle 45° with the electric field from the lower plate with a velocity ‘u’. The maximum
velocity acquired by the particle if it 1s not hit the upper plate 1s

o8 JIrods Hoso IFVLE BwE), Bod Do Ky 808 Jdgs FB B8 1 x 103
VI3 Quenym H608° Srdd o SITE: Hob. & Soboo EAS JEY $605
T8 DGy 2 cmdrdo §8 Haow. wwe JdgmRFo 1 PC Soboin (dgoee 2 g e wl
820~y 808 Hewg Lol B YK 45° 800" W JHod” (B8N0 BT, © Eow Jodd
QESE00S ©b >oBd HBL SHBw

1
A’e ? £

Options :

; 0.1ms™
y 02108

. Dmst
1

Lad

I ms—

+
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Question Number : 105 Question Id : 1017174585 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An infinitely long thin straight wire has uniform linear charge density of — Cm~!. Then the
s ]

magnitude of the force acting on a charge 3uC situated at a point of 18 cm away from the

wire is _: =9%x10° Nm~>C ™2
dne,

[o—

W08 PEIS JHHR IR 8K D Ko 808 TPaH &I¥ Fod 7 Cml & Hod 18 cm

a

Srdod® o Doty $§ &l JUC sIFdn D HIWL 2o Hodrao

=8 {7

1
dn e,

=9%x10° Nm>C™>

Options :

, 10°N
2x10°N

105N
3

-2

3

. 3x 101N

Question Number : 106 Question Id : 1017174586 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In a steady state. a capacitor of capacity 2 uF is charged to 4 uC. as shown in figure. If the
internal resistance of the Cell 1s 0.5 €, then the emf of the Cell is

5

HLZNS® BFHS GBS0 JeEd PES* 2 UF 3>HLE 4 PC 5% sBEToS50 Tahadss.

motio wosd uddo 0.5 Q Lond Hodo GB08), .:UC’DSFHJﬂé 23830

2Q

1Q

LTz
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25V
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4, 2N
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Question Number : 107 Question Id : 1017174587 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

An electrostatic paint sprayer has a metal sphere of diameter 18 cm and at a potential of
25 kV. If it sprays paint droplets. the charge on the metal sphere 1s

a8 Y Adogs Ford f&&oﬁoﬁ_ 18 cm argddn fo 5 Aoy §O Hod oot =T

DBogS #8500 25 kV. @8 Joiy DodhPhods Ibzendr o, v &Y Ao  fo

o)

EINE PSS

Options :

0.5uC
, 0.25uC
, 2.5uC
. 251C

L

Question Number : 108 Question Id : 1017174588 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When the terminals of a cell are connected by a wire of resistance 4 €. the potential
difference across the cell is 1.6 V. If a wire of the same resistance is connected in parallel
with the first. the potential difference becomes 1.33 V. The emf and internal resistance of
the cell are respectively

4 Q J&G0 Ko &1 b0 B8, Bod VIde §OLIYPE 70 FBICHS Fdo 1.6 V.
& J08E SR, o8 A5 %0 Ko J08E &4d Siroddom E0h58 oa:;@ & oo ﬁ“ﬁ&)ﬁo&}@
260 1.33 V. sowe & 53553‘;”&@ 200 8oy wodd Sﬁfcﬁ;ﬁmm SEBm

Options :

L 2V.2Q
, IV20
1V.1Q
2V,1Q

L

i
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Question Number : 109 Question Id : 1017174589 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

T ; . . o R;R
If the charge on the capacitor is 1 mC in the given circuit. then % = Q.

Options :

. 04
, 10
3 6

4 0.6

Question Number : 110 Question Id : 1017174590 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two concentric coils of 20 turns each are placed in same plane. Their radii are 30 cm and
60 cm and carry 0.4 A and 0.6 A currents respectively in opposite directions. The magnetic

imnduction at the centre in tesla i1s

08,5,8 20 hin Mo Tod EJoEE S w8 dwod® Gomrd. 30 cm 60 cm
e

o

Tgroen fo a8 o H&nm 04 A 58050 06 A 3)&’335 ey aTsend 5’35@36 B¥eres’

RITETow. Bond Sodo IE echIod (W (Bos®)
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Question Number : 111 Question Id : 1017174591 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two long parallel conducting wires carrying currents are seperated by a distance ‘x”. Work
done per unit length in changing the distance between the wires 1s proportional to

DS Pararfods §OAYHN) Do FEIS SSrodd s 8o Dy drddn X & aife
S Erod) Srdnbb Hirn PEHS 2ONS HI & Bod TIE BHS ErEDE5N S’
ook

Options :

Question Number : 112 Question Id : 1017174592 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Match the following

List-1 List-1I
a)  HighRetentivity 1)  Telephone diaphram
b)  High resistivity 11) Diamagnet
c) Low coercivity 111) To decrease eddy current losses
d)  Negative susceptibility 1v) Permanent magnet
808 T 2EHBEWHB
e -1 e - 11
a) o grdmivd 1) BOPFI doSrPaoed
b) ©&8 J6°5ES i) alo 290307, 080
C) ooy AT iii) ¢ P SFod SHoSTI8
d) 2we S¥8 V) TH$ ©cdar) odo

The correct answer 1s

HBSB0S BEFTHDD

Options :

—_

-2

L

4.

a-1. b-ii. ¢-iii. d-1v
a-1v, b-111. c-1. d-i1
- a-1. b-1v. c-1ii. d-i1

a-1v. b-11. c-1. d-111

Question Number : 113 Question Id : 1017174593 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
Assertion (A):
Reason (R) :

Qo (A):

2582 (R) :

It 1s more difficult to push a magnet into a coil with more number of turns.

The emf'mduced in a coil opposes the motion of a magnet when if 1s moved
towards the coil.

oty Sopg wHBorr Ko wl 8 LS V8 wobamodind Thodhb
28 @aF 08508 8 Wi I §6O0NSHE 81 LS® (@085
Defogimyel wodn WYY 08 HHTR) S5EBsowD.
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Options :
Both A and R are true. R 1s correct explanation of A.

A, Ren 38530, R, A &0, 588 58k,

Both A and R are true. R 1s not correct explanation of A
A R en d8g5w. R, A B, 3385 258 5°8%0.

A 1s true. R 1s false

w o

A ﬁe"ésl‘lo R @Eﬁ@g;};@
A 1s false. R 1s true
A e58g50, R$8550

Question Number : 114 Question Id : 1017174594 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

When a coil is connected to AC supply of frequency 50 Hz. a current of 4 A flows in it and
it consumes 240 W power. If the potential difference across the coil 1s 100 V. then the
inductance value of the coil is

e.8 81 Hed 50 Hz FHYdgin fo AC 36005 Seod Jod, & oy o 4A
DEgS Do Ho0od 240 W Fdoggo dARBrhothBodt. & Wil oo Hdg
FBIcHE 2850 100 V wond &f ol (208800

Options :
L :LH
1 Sn
L=2n
2 I
, L=(5n)H
LY
4 251

Question Number : 115 Question Id : 1017174595 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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The amplitude of electric field in an electromagnetic wave is 60 V. Then the amplitude
of magnetic field is

a8 DogEaRA, 08 Sdoro Hotk JEgE B KOR Do 60 VI wowd waidr o 3¢

HOR Dend

afh

Options :

, 2x10°T
6x10'T
5 6% 17T
s 2HIOT

L2

Question Number : 116 Question Id : 1017174596 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Both an electron and a photon have same de-Broglie wavelength of 1.2 A. The ratio of

their energies is nearly

w& doEio 2005w wf Ferd od - SCokBEsEn 1.2A $0h &), wons >
o 3G DSrbr

Options :

L Lad

2. 1:10

. 1:100

, 1:1000

Question Number : 117 Question Id : 1017174597 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The radius of orbit of an electron and the speed of electron in the ground state of hydrogen
atom are 5.5 * 10-11 m and 4 » 106 ms-1 respectively. Then the orbital period of this
electron in the first excited state will be

QJQEE 885 G300, agrgo D080 T EFae DTSy g, ”’wcﬁ{;mbﬁm Qﬂ@jS D&
S80S 5.5 % 1071 m Sodaso 4 ¢ 100 ms™ @08 Fodl wBud FonS” & JOES
W08, BErgRdN FTo0

Options :
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9.608 = 10165
8.9068 < 10165

7.806 = 10165
6.908 = 10165

—_

-2

(=]

o

Question Number : 118 Question Id : 1017174598 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The half life of a stream of radioactive particles moving along a straight path with a constant
kinetic energy of 4 eV 1s 1 minute. The percentage of particles which decay before travelling
a distance of 3.6 km 1s

(Mass of the radioactive particles = 3.2 * 10—2! kg and charge of the electron=1.6 < 1019 C)

4 eVo R (82 ¥88° o8 JRBy Srfod” PASrdid) FEBrTEE serro Féo ©f
€570 1 dando. 3.6km drdo (Hosrao Twd88 obdodtoyg e T80

{3&@?&?&‘;&% geore (5503 = 3.2 x 1021 kg Sobaso Qﬂaﬁa’n sa¥o = 1.6 x 1019 C)

Options :

. 3705
, 87.5
. 575

4 178

Question Number : 119 Question Id : 1017174599 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

A zener diode voltage regulator operated in the range 120 - 180 V produces a constant
supply of 110V and 250 mA to the load. If the maximum current 1s equally shared between
the load and the zener diode. then the values of load resistance (Ry ) and series resistance
(Rg) are respectively

B0 EArs 482 Voo o 120-180V orgaes® by, 110V Sdoin 250 mA Q

QTOMT 8T T RYod. (07 IS BT TG0, B ERrdes SBIXFIm
D08, TG0 (Rp) 28css @8 A8%0 (Rg) denden S&dm

Options :

R; =70 Q,R¢=280 Q
Ry =440 Q. Ry =140 ©)
Ry =440 Q. Rg=1400 Q

1.
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, Ru=280Q.Rg=70Q

Question Number : 120 Question Id : 1017174600 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

The process of recovering the modulating signal from the modulated carrier wave 1s called

SrcdogBin Bondd oirE ddoiio Sood SrdogBiiof Ho88dnd PIL Lo o

Options :

Amplification

S8R0
et

Rectification

Noise
3 DA

Detection

Display Number Panel: Yes
Group All Questions: No

Question Number : 121 Question Id : 1017174601 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

The energy and radius of electron present in second orbit of He™ respectively are

He™ Bodd 880e5° &) doma 48, asardo S6dm
29 =l (o™ "= ¥ a% g
Options :

| —2.18 %1071, 105.8 pm
—4.36 x 107187, 52.9 pm

—1.09 % 107 I, 105.8 pm
, —8.72x107" 7, 211.6 pm
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Question Number : 122 Question Id : 1017174602 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The work functions of Ag. Mg. K and Na respectively ineVare 4.3. 3.7, 2.25. 2.30. When
an electromagnetic radiation of wavelength of 300 nm is allowed to fall on these metal
surfaces. the number of metals from which the electrons are ejected is :

(1eV=1.6022 % 10717 )

Ag Mg K. Nao & @Hahosren eV eod* Sddne 4.3, 3.7, 2.25, 2.30. 60134 go 300 nmn
g

(o DEgEosan 08 D86 ) -t S r&ere @& @doddPHd Q) 5°Fe Hod &Jra_ﬁ@fﬁm

Sendderon? (1 eV=1.6022 x 10°1°])

Options :

L5
) 4

3 3

5 2

Question Number : 123 Question Id : 1017174603 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Assertion (A) : Na™ and Mg”"ions are isoelectronic but the ionic radius of Na™ is greater
than that of Mg”*
Reason(R):  The effective nuclear charge of Na®ion is less than that of Mg?" ion

D go (A): Na®, Mg?* en DIV FIE woirden. 5, Na™ wosras grdo, Mg™
TG0 E08 IE),D
5600 (R):  Na* wosrS @08 Sos edifo M2 woird $o08 &5,

Options :
Both (A) and (R) are correct and (R) 1s correct explanation of (A)

; (A) S58030 (R) o0 50850&0), 50030 (R) wHd (A) § H0008 25060,
Both (A) and (R) are correct but (R) 1s not the correct explanation of (A)
(A) 508050 (R) en H05080, (R), 25886 (A) S D008 DHde 7.
(A) 1s correct but (R) 1s not correct

: (A) 3863056 570 (R) 3003088 s°6%.

(A) 1s not correct but (R) 1s correct

, (A) D00H8 5 5% (R) H0GHHE.
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Question Number : 124 Question Id : 1017174604 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The Lewis structure for O; molecule is given below.
The correct formal charges on oxygen atoms labelled 1. 2. 3 are respectively

O, =33 oo Qo070 1§06 RSE0d.
3 = &

wowd, 1, 2, 3 eomr MHBodadd s§Hzud HEHdrmnde HODN TGS wrden SKHH

3

O

VAR

e

1
Options :
L +1.0.-1
, —1.0.+1
o 0T
, 1.-1.0

Question Number : 125 Question Id : 1017174605 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which among the following are having. diamagnetic property?
Bod T8 oS wohI 08 o) EOASD 2D?

@ B, (b) N, (© O, @ G
Options :

. ab
2 b.c
3 a.d
, b.d

Question Number : 126 Question Id : 1017174606 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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At 27°C in a 10 L flask 4.0 g of an ideal gaseous mixture containing He (molar mass
4.0 gmol™) and Ne (molar mass 20g mol™) has a pressure of 1.23 atm. What is the mass%
of neon? (R=0.082 L atm K" mol™)

27°C 3¢ 10 L ardne® &) 4.0 g e68d8) arosn doiFsod” He (Srerd ($550°3
4.0 g mol™), Ne (3rers (55078 20 g mol™?) &H9cy od HSo 1.23 atm wond
DOIrS (55073 TS0 Jos? (R=0.082 L atm K~ mol )

Options :

. BaZ
. 257

;3 14.2
4 62.5

Question Number : 127 Question Id : 1017174607 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Two oxides of a non-metal X contain 50% and 40% of non-metal respectively. If the formula
of the first oxide is XO,. then the formula of second oxide 1s

00 @5 efiReeS” WS o X S6dm 50%, 40% 50, 3ndE wg)é rayer X0,
wow, BoES WFB e DadEs?

=

G

Options :
X0,
X,0
X0,
X0,

4 "2

1.

-2

Question Number : 128 Question Id : 1017174608 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The enthalpy of formation (AfH) of methanol. formaldehyde and water are —239. 116 and
—286 kI mol™ respectively. The enthalpy change for the oxidation of methanol to
formaldehyde and water in kJ is

DESE, FoGTE, Hbe S0 Jomdyes (AH) S6dm 239, —116 $r00%0 —286 KJ
mol ! wondS NITS w§ssno Bod FoITE, IO 6B IEgH J0Tdy ST
kI oe5°
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Options :

, —136
2173
; — 163
. 163

Question Number : 129 Question Id : 1017174609 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

i) H3PO4(aq) = H (o) tH,POj qq)
if)  HyPO3aq = H' (a9 *HPOZ (o

iii) HPOZ (49 = H'ag *PO% (ag

The equilibrium constants for the above reactions at a certain temperature are K,. K, and K,

respectively. The equilibrium constant for the reaction Hy;POy,q) = iy (aq™ PO;” (aq)

n terms of K,.K, and K3 1s

i)  H3PO4(ze) = H'(,,)+H,POy(,.,
ii) H,POy., =H'(,.,*HPO; ..,

i) HPOZ .,y = H'(.)*PO; (.,
2.8 JPQ PIS ¢ D S6ge dHeryd Yorosten DM Ky, K. K; 2900088
(n = = B o

H3POy(..) = 3H () + PO1 (.. @65 d3re-8 Joroso K. K,. Ko d6om Jos?
Options :
, Ki+Ko K3
K
, KotK,
Ks
3 K1 KE

. K1 Ko K

Question Number : 130 Question Id : 1017174610 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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The equilibrium constant (Kc) for the following equilibrium
2505+ Oag) = 2505

at 563 K is 100. At equilibrium. the number of moles of SO; in the 10 litre flask is twice
the number of moles of SO,. then the number of moles of oxygen is

563 K 3¢ 4 (80b wdgso ﬁﬁ:&??g@; %D‘Oé@ (Ke) 2e05 100.
250,91 Oy = 2805,

DY 5 10 &8¢ rges* SO33rde Hopg, SO, drde Hopgs GLoHm &Iy,
s§and Jrde Hopg Jos?

Options :

1 0.3
, 0.4
5
02

Question Number : 131 Question Id : 1017174611 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

How many muillilitres of 20 volume H,O, solution 1s needed to react completely with
500 mL of acidified IN KMnO, solution?

500 208ded wngs IN KMnO, @@52008° HSrom S0y 2058 o) mddid
20 Ho5303r0 H,0, @ S0 wS55650108?

Options :

, 56
, 140
5 224

, 280

Question Number : 132 Question Id : 1017174612 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following statements is not correct?
80O TS IH DO DG §G?

Options :
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Alkali metals react with water liberating oxygen gas

sdeTten E® S0 20D w§:d Toindd ddde Dok

The hydration enthalpies of alkali metal 10ns decrease down the group
S5 $oirde @A Jogrden [((rHs® $ohs &Fond B drheron
KO, 1s paramagnetic

KO, aror woham o8 ¢om)q) dradyod

Lithium halides are some what Covalent in nature.

; DHo%o TDhen Fod §IBod) (o7 EOA wodron

Question Number : 133 Question Id : 1017174613 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

In which of the following reactions. hydrogen 1s liberated ?

(a) Al(s] +H{Z‘lw—}

(b) Al, +NaOH, ,—>

(¢) NaBH,+I,——

Bod FOgee® BA0HOM TGRS Iy ©hid?
(@) Alg,,+HCl,.,,—

(b) Al. +NaOH . _. ——

(30) (2323}

(c) NaBH,+I,——

Options :
, a.c

, a.b
3 b.c

4 4., ¢

Question Number : 134 Question Id : 1017174614 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Which one of the following statements is not correct?

& 806 TIS* IO HOE D56 5E?
Options :
In CO molecule. there are one “sigma’ (o) and two “FP7”" () bonds.

CO @e0565° 2.8 :Ef:-rf;b’ (0), So ' (W) wogren o
T — e
Both [SiFg | and [SiClg| ™ ions are known

[SiFﬁ]E' S5080%50) [SjClﬁ]E_ w5 Dot wosFdy ©egsridk

In CO, molecule. carbon hybridisation is sp

CO, we0Hes® s=tha HosdET0 Sp

Fullerenes are made by heating graphite in an electric arc in the presence of argon
gas.

Bs0rS arosn HMFoeT® PG ISgEnHoS® BAVHS YO SairdHErow

Question Number : 135 Question Id : 1017174615 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following forms holes in the Ozone layer?

§od TAS* LES FIS° oo TG 267
Options :

SO'E
CO

£
.00
CE(L

1.

4

Question Number : 136 Question Id : 1017174616 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Identify the correct statements from the following
a)  Electromeric effect is a permanent effect
b) Hyper conjugation is a temporary effect

¢)  Fractional distillation is used to separate two liquids from a mixture if the difference
in their boiling points 1s less

d)  Different compounds are adsorbed on an adsorbent to different extents

Bod 7565 DOGHS D3dwed Hodok

a) u&ﬁ%&§ erdo FHSTHE

b) 8 Sooswiy Perdo e e dEHI6

€) 88 w038 DASK0D IDTACD, eSS oo BE® S8, ST &&) Do (Barod
T3 MEFH00 Hood) ISHTT®

d) 50 dForen whFTas D DG wIhes 9550 Toheron

o
The correct answer 1s

Options :

p ¢.d

. b, ¢
5 Dyl
o

Question Number : 137 Question Id : 1017174617 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The gaseous products formed at cathode (X) and anode (Y). when an aqueous solution of
sodium acetate 1s electrolysed are

B0 WHBE BOEHI) ﬂd)%&oguc-lfa@ roodsHE s§d*e (X) 00dn =uI6
(Y) & 3¢ acﬁ;’é 7050 GrehyTr)en
Options :

X

C.H, . H, Co,

<

[

L
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€0, CH,.H,
X =

H C,H. , CO,
X Y

, B Co, CH,

Question Number : 138 Question Id : 1017174618 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Identify the correct statements for a ring system to exhibit aromaticity
a)  Itmust not be planar

b) It must possess (4n + 2) x electrons

¢) Itmustbe planar

d) Tt must possess 4n 7 electrons

28 J0odh H§HR BGIrEHE HE0OTELrIS THONH B0 DSdpwd MHioTod
a) b ddgeor &odoD

b) & (4n+2) nae_vgﬁmﬁy 58 €r0BIBSo

¢) wd dHlogeoom o d

d) o8& 4n7JdoFgIos §O GodsTh

The correct answer 1s

Options :

, a.b
7 b.c
; ad
5. D

Question Number : 139 Question Id : 1017174619 Display Question Number : Yes Single Line Question Option : No ™
Orientation : Vertical i
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An element has a body centered cubic structure with a unit cell edge length of 400 pm.
Atomic mass of an element is 24 gmol™. What is the density of the element?

(N,=6x10**mol™?)

20S80BE S JoSNS® &F) w8 Sresdn ohrddl d wow &y 400 pm
SoroEd) H6Srm ($550°3 24 g mol! wond wd Frods Jog? (N,=6%10% mol™?)

Options :
p. —3
, 3.60 g cm

, 1.80 gem™

, 1.25gem™

, 2.50gcem™

Question Number : 140 Question Id : 1017174620 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

31 g of ethylene glycol (C,H.O,) is dissolved in 600 g of water. The freezing point
depression of the solution is (K for water is 1.86 K kg mol ™)

31 g 2803 55" (C,HO,) & 600 g Hi3e5® E0h0wm YRS (@500 DESS L
25N 08? (De3 Kpdens 1.86 K kg mol™)

Options :

310K
, 465K
. 0T

o 155K

Question Number : 141 Question Id : 1017174621 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following solutions of compounds show highest osmotic pressure?
(AB. AB, and A, B; are ionic compounds)

& 8oh JFTe we ESrest whs (Bodhsn addsn 08 GHH?
(AB. ABj 500050 AyBj3 o0 ©205°08 HaFaren)

Options :
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3.0 M AB type 1= 1.6 and temperature 1s 27°C
| 3.0MAB @80 1= 1.6 500050 eagys 27°C

2.5MAB, type 1 =2.5 and temperature is 57°C
2.5 MAB, 683» 1 =2.5 08050 el 57°C

1.5 MA,B; type 1 =4.1 and temperature is 27°C
1L.5MA,B; 0850 1 =4.1 508050 eraryiss 27°C

5.0 Murea 1 = 1.0 and temperature 1s 67°C
, 3.0Mosrdosr i =1.0580%0 &&is 67°C

Question Number : 142 Question Id : 1017174622 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

20% of a first order reaction was found to be completed at 10 A.M. At 11.30 A M. on the
same day. 20% of the reaction was found to be remaining. The halflife period in minutes of
the reaction 1s

a8 PES ESro8 $dg oo 10 ook 20% 8 ®ondty HDHIoSHRIs. @B
G'er &@oSw 11 fobe 30 Addre HS003ras 20% Sl S6g DAD rl)en
HQ0TRIH. &8 Tog %D;Cdl)&é} Dadareres® Josk?

Options :

, 90
» 60
3. 4
0

Ll
LA

4.

Question Number : 143 Question Id : 1017174623 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Same amount of electricity is passed through aqueous solutions of AgNO; and CuSO,,. The
number of Ag and Cu atoms deposited are x and y respectively. The correct relationship
between x and y 1s

AgNO, 508050 CuSO, 2o @S HOT &8 H0Sr0e5* HEgHEIH D70 BHIYE
083308 Ag. Cu H6Srende domy SCODHM X, ¥ wond x. ¥y © gy H0:8 dowodo

Options :

 BEK
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=2y

]
; Y=2%
i

Question Number : 144 Question Id : 1017174624 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Colloidal solution of gold 1s m different colours like red. purple. blue and golden
because of

=

A8 Serond [@H0 I, 07, 000, Vordd Goiherotd HAE Fohes® €0tod.
68 580

Options :
Size difference in the particles of gold

ﬁ"‘9§ gcare) DOSr00et BE oISy

Variable oxidation states of gold
FE8 00y es§ssen Hadben €rokLIDD
Q [} &

L2

Presence of impurities

0OT e e odllNnn

Difference in the concentration of gold particles
A Seore mESS® 8@ GodiSw

Question Number : 145 Question Id : 1017174625 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Copper matte contains

5256 57565t &0

Options :

 Quo. Cuy5
, CuO. FeS
; (LS. FeS
: Cu,S, FeO

Question Number : 146 Question Id : 1017174626 Display Question Number : Yes Single Line Question Option : No MNn#i~=
Orientation : Vertical
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S+Conc. H,SO, — X+Y
Here X 1s a gas and Y 1s a liquid and both are triatomic molecules. The number of electron
lone pairs present on the central atoms of X and Y are respectively.

S+m¢ H,50, — X+Y
a8 ¢ X 57030y, Y (5550, 0008 Bodr @050 wengen. X. Y o Soss HSreande
6 €3y 2,080 QOFS g0 dopg ST

Options :
2,
.21

2

I~

ol
fu—
-2

Question Number : 147 Question Id : 1017174627 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following is used in the estimation of carbon monoxide?

§0d 78S* BAD TGN IroHEH AFonoIETAE GHBrATE?
Options :

lZ‘lE O,
BrO

1

_ 3
1O,

L2

3
4 IZO‘E

Question Number : 148 Question Id : 1017174628 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

To prepare XeF . Xe and F, are mixed at 573 K and 60-70 bar in the ratio of

XeF 53068 $03:08, Xe, F, arasndoi 573K, 60-70 a6 3¢ Q 9:)8e° Sensyadd?

Options :

L 1:20
20 : 1

L L3
[
LA

+=
L
[a—
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Question Number : 149 Question Id : 1017174629 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

What are X and Y in the following reactions ?

Bod S6gees® X. Y en 2d?

a)  MnO;+I — X

b) MnO;+I —225Y
Options :

o
L, 10,
, 107 ;107
L, K

1

-2

4.
Question Number : 150 Question Id : 1017174630 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

Identify, from the following. the diamagnetic. tetrahedral complex

Bob T¢3S° oSr WO 08, B S Ho3ard) Miodod

Options :
Ni(CN). |~
. B 1( \ }4]
Ni(cny,
| Ni(CO
[3i(c0),
it
4 L 23

Question Number : 151 Question Id : 1017174631 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following is not used as an initiator in ionic polymerisation?

8ob a°&3e5* DA wairdd rdS0080w0eT® (@rdosf§omr & A@rA0EEH?

Options :
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AlCl,
Sﬂiﬁ"l2
NaNH,

(C6HsCO), 0,

Question Number : 152 Question Id : 1017174632 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

Identify the statements which are not correct from the following

a)  Carbohydrates are stored as glycogen in animals
0

b) Inglycylalanine. — (ICI” — of peptide bond belongs to alanine
c) Base - Sugar - phosphate unit 1s known as nucleoside

d)  Obesityis due to hypothyroidism

Bod artde® HOGIKND §'Q DITed MHioTodk

a) s Ohr@Eine 2odedt N8ad rHos* ey trotran
O

: |l
b) D6 JOJIIVS DG oo BN, — C— QI BodIH

fazl

¢) F60-I5 6-ar @) 0RrdEs Srg8drph wotr®

d) TIProndas Sod westoDo e

The correct answer 1s

HOGNS HAPTHD0
Options :
, a,¢.d

, a.d
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g B
4 b.c.d

Question Number : 153 Question Id : 1017174633 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which of the following structure represents the compound. generally added to soaps to
1mpart antiseptic properties?

D30 JEEE Fool §OA0SErDIE dayesy FErdwomr 8D SdnFSo Bod St

Q070 8O/ 0odnod?

Options :
SO,NH,
| NH,

k-2

Question Number : 154 Question Id : 1017174634 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

The drug. which was designed to prevent the interaction of histamine with the receptors
present in the stomach wall 1s :

2¢§°H0 Fkee® fo rirsos® rHds 2075 SegH J°HosEras drageys TS S0k
Options :
Equanil

N EQ?S:JPE
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Prontosil
, WPRETRS
Aspartame
N SDIP 0
Cunefidine
; DDBAS

Question Number : 155 Question Id : 1017174635 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical

Which one of the following is more reactive towards Sy reaction?

80D e3e® DB Sy BEgHE BHE SoTgBOSR (HENN0H?

Options :

(CH,),CX
(CH,),CHX

1

 CH X
, CH,;X

Question Number : 156 Question Id : 1017174636 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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What is Z in the following sequence of reactions ?

cl T

¢
7% i Y
CH; C X Y
Ay A~ (Major)
Cl
- Zn—Hg/
X Conc.HC1
Z

Bod [ESrdossgeest Z 98?

ci T
C

~
i

A

+

X-[.?'

=g AICK > (Blni))

C1
> Zn-Hg/
X & HCE
Z
Options :
, —CHs
23 CH,-CH,
-C-CI
|
5. 0
- ~|c| ~CH,
4 O

Question Number : 157 Question Id : 1017174637 Display Question Number : Yes Single Line Question Option : No Option
Orientation : Vertical
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Identify the statement which 1s not correct?

Boh 7mE3e5° HOGN DIT 5 TAA DHBoLodk

Options :
Freon 12 1s manufactured by Swarts reaction

| 0osrS 12 8 ey S65 Tgo e DI
CHC l3 1s stored 1n closed. dark coloured bottles
CHCL,; & Soth SHarees® Hnod Dex oS H

L-2

Chronic exposure to CHCI, causes liver damage

; "?_.- \_:3 2 J &2 1 DO edole] 000 Yo ) 22300
2 CHCL, & 6@ sooarin Hd wondHnd sBoho drdHsod
. ¥-I

Dehydrobromination of 2-bromopentane gives pent-1-ene as the major product

LN
o

, 2@ 0B AE EPISE60 TR 0E-1-835 HErS eSS0 AG\HSH00

Question Number : 158 Question Id : 1017174638 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical

The increasing order of acidity of the following carboxylic acids is

808 5707808 edre, wHeEo HON 100

COOH COOH COOH COOH
(a) (b) (c) (d)
Options :
, A Kb dLe
g Ld<a=<b
3{: -‘fd ‘ib {'-: L

S =il s

Question Number : 159 Question Id : 1017174639 Display Question Number : Yes Single Line Question Option : No MOntinn

Orientation : Vertical
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What are X and Y in the following reactions?

Bod S6goe® X, Y e 2?

CH,0—2 %X __,CH;(CH,),CH,0H

(i) H;O"

1) C,H;MgB N y
y —DEMER | ey CH,C(CH;), OH

() H;0"
Options :

X

CH; — CIH — MgBr

CH,
X

CH; — CH, —MgBr

1.2

X

CH,CH,CH, MgBr
3 =
X

(CH;)C MgB
4 :

v

C,H.COCH,

v

CH,CH,CHO

X
CH, —CO—CH,
v

CH, - CO-CH,

Question Number : 160 Question Id : 1017174640 Display Question Number : Yes Single Line Question Option : No Option

Orientation : Vertical
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L2

What are X and Y in the following reactions?
§od $6g0s® X. Y en 22?

I\'HE
BI'E /H 7 O & X
3.
NHCOCH;
BTE CH3 CO0H i ‘f
Options :
X X
NH, I‘THCGCHg
Br Br
1.
X x
NH, NHCOCH,
Br Br Br Br
Br Br
X X
NH ; NHCOCH 3
Br Br
BEr
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I

NH;
Br Br

Br

Br
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